
√3
⎯⎯ 

> 1

60 > 30

60 must open 
up to the root 
3. And Vice 
Versa

Half an equilateral with sides 2

60௢ 60௢

60௢

30௢

2

2

2

2

1

√3
⎯⎯ 

= ඥ2ଶ − 1ଶ
⎯⎯⎯⎯⎯⎯⎯ 

𝑏 = ඥ𝑐ଶ − 𝑎ଶ
⎯⎯⎯⎯⎯⎯⎯ 

1

1

45௢

45௢

Diagonal of a square with sides lengths of 1

1

1
√2

⎯⎯ 
= ඥ1ଶ + 1ଶ

⎯⎯⎯⎯⎯⎯⎯ 

𝑐 = ඥ𝑎ଶ + 𝑏ଶ
⎯⎯⎯⎯⎯⎯⎯ 45௢

45௢

60௢

sin 60 =
√3

⎯⎯ 

2
⎯⎯⎯

cos 60 =
1

2
⎯⎯

tan 60 =
√3

⎯⎯ 

1
⎯⎯⎯

sin 30 =
1

2
⎯⎯

cos 30 =
√3

⎯⎯ 

2
⎯⎯⎯

tan 30 =
1

√3
⎯⎯ ⎯⎯⎯

cos 45 =
1

√2
⎯⎯ ⎯⎯⎯

tan 45 =
1

1
⎯⎯

sin 45 =
1

√2
⎯⎯ ⎯⎯⎯
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